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QUESTION 1

Given the SQL statement shown below: 

Which statement correctly describesthe cursor MY_CURSOR? 

A. The cursor does not have sensitivity to insert, update, or delete operations that are made to rows in the underlying
result table. 

B. The cursor will not be closed as a consequence of a commit operation. 

C. The result table of the cursor is intended to be used as a result set that will be returned from a procedure. 

D. The cursor can be used to perform positioned delete operations. 

Correct Answer: D 

 

 

QUESTION 2

Which statement will change the value of a special register? 

A. UPDATE SPECIAL REGISTER TIME = ?2:30:00?UPDATE SPECIAL REGISTER TIME = ?2:30:00 

B. UPDATE SPECIAL REGISTERSCHEMA = \\'DB2ADMIN\\' 

C. SET CURRENT TIME = ?2:30:00?SET CURRENT TIME = ?2:30:00 

D. SET CURRENT SCHEMA = \\'DB2ADMIN\\' 

Correct Answer: D 

 

 

QUESTION 3

Click the Exhibit button. 
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A user-defined function was created using the statement shown in the exhibit. 

Which additional option can be added to the CREATE FUNCTION statement to tell the optimizer that the function
doesnot always return the same results for a given argument value? 

A. NO EXTERNAL ACTION 

B. NOT FENCED 

C. NOT DETERMINISTIC 

D. STATIC DISPATCH 

Correct Answer: C 

 

 

QUESTION 4

Which statement is true about the data types VARCHAR and VARCHAR2? 

A. The VARCHAR data type cannot be used with a database thathas been created in Oracle compatibility mode. 

B. The VARCHAR2 data type treats empty strings as null; the VARCHAR data type treats empty strings as not null with
zero length. 

C. The VARCHAR2 data type length is limited to 2000 bytes; the VARCHAR data type length can be up to 32K. 

D. The VARCHAR2 data type cannot be used in a database that has not been created in Oracle compatibility mode. 

Correct Answer: B 
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QUESTION 5

In the code segment shown below: 

Which statement accurately describes the result? 

A. For activities whose description has not changed, update the description in the ARCHIVE table. For new activities,
insert into the ARCHIVE table. The ARCHIVE and ACTIVITIES table both have ACTIVITY as a primarykey. 

B. For activities whose description has changed, update the description in the ARCHIVE table. For new activities, insert
into the ARCHIVE table. The ARCHIVE and ACTIVITIES table both have ACTIVITY as a primary key. 

C. For activities whose descriptionhas changed, update the description in the ACTIVITY table. For new activities, insert
into the ACTIVITIES table. The ARCHIVE and ACTIVITIES table both have ACTIVITY as a primary key. 

D. The statement will fail since MERGE is not a supported operator. 

Correct Answer: B 
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